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Rješenja zadataka 7.7

Zadatak 1. Kut izme -du vektora �a i �b jednak je 120◦ . Ako je |�a| = 5 , |�b| = 4 , koliko je

1) �a ·�b ; 2) (�a +�b)2 ;

3) (�a −�b)2 ; 4) (�a − 2�b) · (2�a +�b) ?

Rješenje. 1) �a ·�b = |�a| · |�b| cos <)(�a,�b) = 5 · 4 · cos 120◦ = 20 ·
(

1
2

)
= −10 ;

2) (�a + �b)2 = �a2 + 2�a · �b + �b2 = |�a|2 + 2|�a| · |�b| cos <)(�a,�b) + |�b|2 =

52 + 2 · 5 · 4 ·
(
−1

2

)
+ 42 = 25 − 20 + 16 = 21 ;

3) (�a − �b)2 = �a2 − 2�a · �b + �b2 = |�a|2 − 2|�a| · |�b| cos <)(�a,�b) + |�b|2 =

25 − 2 · 5 · 4 ·
(
−1

2

)
+ 16 = 25 + 20 + 16 = 61 ;

4) (�a − 2�b) · (2�a + �b) = 2�a2 − 4�a�b + �a�b − 2�b2 = 2|�a|2 − 3�a�b − 2|�b|2 =

50 − 3|�a||�b| cos <)(�a,�b) − 2 · 16 = 18 − 3 · 5 · 4 ·
(
−1

2

)
= 18 + 30 = 48 .
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